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% g K& - BRHE Bifg B 2 i & BB wmE
BRI 14,485,500 + 365, 785 14,851, 285
EEAGE 14, 485, 500
EEEE 365, 785
T DAt 14,485,500 x 53.85% ( 35% + (1 — 35%) ) 7,800, 441
RHRE 14,851,285 + 7,800, 441 22,651,726
—REEEZ 22,651,726 x 53.85% ( 35% = (1 — 35% ) ) — 9,680 12,188,274
ES it 22,651,726 + 12,188,274 34, 840, 000
HBEREHELE 34,840,000 x 10.00% 3, 484,000
EHERH 34,840,000 + 3,484,000 38,324,000
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% L Bg - BT BfL # B B i ® # mE
BRI 14, 851, 285
RETES 14, 851, 285
REHET 14, 851, 285
ErERE (2K) 548, 000
REHETE 121, 800
1 B&&tatE 1.00 121, 800 121,800
=
& - |WE 302, 800
2 & - wE 4.00 75, 700 302, 800
]
BE 104, 200
3 BE 1.00 104, 200 104, 200
=
e 19, 200
4 NEARMEROER 1.00 19, 200 19, 200
=
KRG (HEHBK) 4,108, 800
TEERBRA EZDRET 1,577,000
5 FEREBRAE DR 1.00 1,577, 000 1,577,000
=
B E4F B 615, 600
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6 EmE/ERL 1.00 615, 600 615, 600
247
HEHE 428, 800
1 HEHE 1.00 428, 800 428, 800
247

BMEIEEOETE 831, 800

8 BIEI=ENDHETE 1.00 831, 800 831, 800
=

IRERDER 655, 600

9 TEROEK 1.00 655, 600 655, 600
=

MERERET (FRtX) 5,481, 500

(G 3, 405, 400

10 EEHETE (1)1 R, #RERR 1.00 492, 600 492, 600
=

11 EEHEE 1)-2 R, ERARR 1.00 492, 600 492, 600
=

12 BEFEtE (1)-3 R, EFHRF 1.00 553, 500 5563, 500
=

13 BEHEE (2)-1 2. BBRSR 1.00 492, 600 492, 600
=

14 BEHETE (2)-2 2. HARSR 1.00 492, 600 492, 600
=

15 BEHETE (2)-3 2. ERFIRF 1.00 881, 500 881, 500
=

268, 800




BEARRE N Ry e

% R Bg - BT B % B B i ® # wmE
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=
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17 HEER 1.00 1,215, 300 1,215, 300
=
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18 $ESIER 1.00 592, 000 592, 000
=
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TEREHS EDRE 1, 815, 400
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=
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20 HEERL 1.00 615, 600 615, 600

247
HEHE 428, 800
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247

BMEIEEOETE 831, 800

22 BIETIHEEDETE 1.00 831, 800 831, 800
=

IRERDER 655, 600

23 TERDER 1.00 655, 600 655, 600
=
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EEEE (£ 365, 785

EHARE 140, 785

240 EHRARE 1.00 140, 785 140, 785
=

B 180, 000

25 EHRES 1.00 180, 000 180, 000
=

Z 0t 45,000

26 fETEREHE 1.00 45, 000 45, 000
=
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£ £ R - BIKTiE Bifi H = B {f & ) W E s &
EXE2TNE )
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57, 000
& &t VERBES - 1.00= 121, 800. 00 121, 800
5:2
B 15iE - e 1mHyY
£ £ R - BIKTiE i=-Fiva = IR ) W E s &
A (A)
A 0. 50 57, 000. 00 28, 500
A (B)
A 1.00 47, 200. 00 47, 200
& F YE2EEH 1. 00E 75, 700. 00 75, 700
5:3
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£ £ R - BIKTiE i=-Fiva = =N i ) W E s &
A (A)
A 1.00 57, 000. 00 57, 000
A (B)
A 1.00 47, 200. 00 47, 200
& F VERBES - 1.00= 104, 200. 00 104, 200
5:4
A AFAKRREROER 1X4Y
£ £ R - BIKTiE i=-Fiva = =N i ) W E s &
i (C)
A 0. 50 38, 400. 00 19, 200
& F VEZBES - 1.00= 19, 200. 00 19, 200
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% £ R - BIRTiE B = B i %5 " =
EX T TC D)
A 3.00 64, 800. 00 194, 400
A (A)
A 5.00 57, 000. 00 285, 000
A (B)
A 8.00 41, 200. 00 3717, 600
HEm (C)
A 10. 00 38, 400. 00 384, 000
Hftt &
A 10. 00 33, 600. 00 336, 000
& i E%4EH : 1.00= 1,577, 000. 00 1,577,000
HS:6
& REER 194 74Y
% £ R - BIRTiE B = B i %5 " =
A (B)
A 1.50 41, 200. 00 70, 800
HEm (C)
A 5.00 38, 400. 00 192, 000
Hftt &
A 10. 50 33, 600. 00 352, 800
& i 28N :1.005 14T 615, 600. 00 615, 600
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% £ R - BIRTiE B = B i %5 " =
A (B)
A 1.00 41, 200. 00 47, 200
HEm (C)
A 2.50 38, 400. 00 96, 000
Hftt &
A 8.50 33, 600. 00 285, 600
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A 1.00 64, 800. 00 64, 800
A (A)
A 3.00 57, 000. 00 171,000
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A 5.00 41, 200. 00 236, 000
HEm (C)
A 5.00 38, 400. 00 192, 000
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A 5.00 33, 600. 00 168, 000
& i E%4EH : 1.00= 831, 800. 00 831, 800
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A 1.00 64, 800. 00 64, 800
A (A)
A 2.00 57, 000. 00 114, 000
A (B)
A 4.00 41, 200. 00 188, 800
HEm (C)
A 4.00 38, 400. 00 153, 600
Hftt &
A 4.00 33, 600. 00 134, 400
& E%4EH : 1.00= 655, 600. 00 655, 600
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A 1.00 64, 800. 00 64, 800
A (A)
A 3.00 57, 000. 00 171, 000
A (B)
A 3.00 41, 200. 00 141, 600
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A 3.00 38, 400. 00 115, 200
& &t E%4EH : 1.00= 492, 600. 00 492, 600
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A 1.50 64, 800. 00 97, 200
A (A)
A 3.50 57, 000. 00 199, 500
A (B)
A 3.00 41, 200. 00 141, 600
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A 1.00 64, 800. 00 64, 800
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A 3.00 38, 400. 00 115, 200
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A 1.00 64, 800. 00 64, 800
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A 3.00 57, 000. 00 171, 000
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A 3.00 41, 200. 00 141, 600
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A 3.00 38, 400. 00 115, 200
& &t E%4EH : 1.00= 492, 600. 00 492, 600
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% £ R - BIRTiE BT = B @ & 4 " =
EXTAC D)
A 1.50 64, 800. 00 97, 200
A (A)
A 5.50 57, 000. 00 313, 500
A (B)
A 5.50 41, 200. 00 259, 600
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A 5.50 38, 400. 00 211, 200
& &t E24EH : 1.00= 881, 500. 00 881, 500
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AR (C)
A 3.50 38, 400. 00 134, 400
it &
A 4.00 33, 600. 00 134, 400
= B E38EH - 1. 00X 268, 800. 00 268, 800
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2 a3 & - BIKTiE By = B ff & % = & &
AR (A)
A 2.50 57, 000. 00 142, 500
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A 9.00 47, 200. 00 424, 800
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A 9.00 38, 400. 00 345, 600
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A 9.00 33, 600. 00 302, 400
= B E38EH - 1. 00X 1, 215, 300. 00 , 215, 300
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B |MESER =)
2 L & - BIKTiE By = B ff & % = & &
F{EHERAR (B&EH
A 1.50 64, 800. 00 97, 200
AR (A)
A 2.00 57, 000. 00 114, 000
AR (B)
A 4.00 47, 200. 00 188, 800
AR (C)
A 5.00 38, 400. 00 192, 000
= H) E38EH - 1.00X 592, 000. 00 592, 000
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A 5.00 57, 000. 00 285, 000
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A 10. 00 47, 200. 00 472,000
HEm (C)
A 12.00 38, 400. 00 460, 800
Hftt &
A 12.00 33, 600. 00 403, 200
& i E%4EH : 1.00= 1, 815, 400. 00 1, 815, 400
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A (B)
A 1.50 41, 200. 00 70, 800
HEm (C)
A 5.00 38, 400. 00 192, 000
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A 10. 50 33, 600. 00 352, 800
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% £ R - BIRTiE B = B i %5 " =
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A 1.00 41, 200. 00 47, 200
HEm (C)
A 2.50 38, 400. 00 96, 000
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A 5.00 41, 200. 00 236, 000
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A 2.00 57, 000. 00 114, 000
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2 £ g - BIRTE BAfT H = B & W= " =
E-AYITRE RETEER
= 1.00 45, 000. 00 45, 000
& it 1E%8EH : 1.00= 45, 000. 00 45, 000




